Bridgeclub Lier *** ClubTornooi *** 3 giften per ronde *** 12/03/2023 NZ OW |gift 1 NZ OW gift 2 NZ OW gift 3 NZ OwW
1 Maertens Guy-Jan Segers 2 Cle Hilda-Van Mol Benny 1 2 5 3 400 N3N= 8 0 140 N3S= 0 8 —-140 O2H+1
3 Laeremans Ilse-Janssens Geert 4 Brems Tony-De Preter Ludo 4 10 5 3 400 N3N= 6 2 110 N2S= 5 2 300 04H-3
5 Hellin Michel-Vermeerbergen Chris 6 Van Puyvelde Jeanine-De Ley Simonne

5 3 5 3 400 N3N= 2 6 50 O2K-1 8 0 500 O3H!-2
7 Van den Eynde Dries-Freddy Timmermans 8 Koen Van Olmen-Daniels Guy

8 6 5 3 400 N3N= 2 6 50 O3R-1 3 5 110 Z3R=
9 Vander Eycken Dirk-Vantilborgh Ilse 10 Stefaan Quidousse-Govaerts Tof

9 7 0 8 -50 N3N-1 2 6 50 O3K-1 3 5 110 Z3R=
NZ OW |gift 4 NZ OW gift 5 Nz OW gift 6 NZ OW NZ OW |gift 7 NZ OW gift 8 Nz OW gift 9 Nz OW
1 10 3 5 100 O3H-1 4 4 620 Z4H= 4 4 =50 N3s5S-1 1 8 1 7 100 W4H-1 7 1 140 z2s+1 0 8 -90 O2R=
3 4 6 2 790 Z4s!= 8 0 650 Z4H+1 0 8 -120 OIN+1 3 10 5 3 130 N2K+2 3 5 110 z2s= 2 6 100 O2R-1
5 7 3 5 100 OlN-1 4 4 620 z4H= 2 6 -90 OIN= 5 6 1 7 100 W3H-1 3 5 110 z2s= 6 2 200 O3R!-1
8 2 8 0 800 O4H!-3 0 8 -100 Zz4H-1 6 2 100 O1N-1 72 8 0 200 W4H-2 7 1 140 N3H= 6 2 200 w2s-2
9 6 0 8 -120 OIN+1 4 4 620 z4H= 8 0 110 z2s= 9 4 5 3 130 N4K= 0 8 -110 O3R= 6 2 200 O3R!-1
NZ OW |gift 10 NZ OW gift 11 NZ OW gift 12 NZ OW NZ OW |gift 13 NZ OW gift 14 NZ OW gift 15 NZ OW
1 3 6 2 -620 W4H= 4 4 -450 W4H+1 0 8 50 W3R-1 1 7 0 8 -630 O3N+1 4 4 140 Z2H+1 2 6 —-100 Z4H-1
5 4 6 2 -620 W4H= 4 4 -450 W4H+1 7 1 500 W4R!'-3 4 8 4 4 -150 O4K+1 8 0 460 Z3N+2 4 4 50 WIN-1
6 10 6 2 -620 W4H= 4 4 -450 W4H+1 3 5 140 N2H+1 5 2 6 2 -100 z2H-1 6 2 400 zZ3N= 7 1 110 Z2H=
7 8 0 8 —-650 W4H+1 4 4 -450 W4H+1 7 1 500 W5S5R!-3 6 3 2 6 —-600 W3N= 2 6 —130 W4K= 0 8 -200 Z3H-2
9 2 2 6 —-630 O3N+1 4 4 -450 W4H+1 3 5 140 Zz3H= 9 10 8 0 100 W3N-1 0 8 -200 Zz4H-4 7 1 110 Z2H=
NZ OW |gift 16 NZ OW gift 17 NZ OW gift 18 NZ OW NZ OW |gift 19 NZ OW gift 20 Nz OW gift 21 NZ OW
1 6 2 6 —-140 W2S+1 6 2 130 N2R+2 1 7 -200 N3N-2 1 4 7 1 -50 z2s-1 2 6 —-150 O1N+2 2 6 200 N3S+2
2 3 7 1 -110 W2s= 1 7 -50 N3N-1 8 0 630 N3N+1 2 6 7 1 -50 z2s-1 4 4 -110 W3R= 4 4 630 Z3N+1
4 7 7 1 -110 O2H= 8 0 430 N3N+1 6 2 620 Z4H= 5 8 2 6 —-110 W1R+2 8 0 200 O3K-2 7 1 650 N4S+1
5 10 2 6 —-140 W1sS+2 1 7 -50 N5R-1 1 7 -200 N3N-2 9 3 2 6 -110 W1R+2 0 8 -180 W2N+2 7 1 650 N4sS+1
9 8 2 6 —-140 02S+1 4 4 120 N2N= 4 4 600 N3N= 10 7 2 6 -110 W2R+1 6 2 110 N2H= 0 8 -100 N4s-1




